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TR26EEE 1M ERERUVRRENIERE—RR
SHEOE EHEROE EHAT0EMDE
HHE R R s R ER26F4~6H ER22(H23.3.11 L&) ER13EE
~ 25 FE 4 ¥R ~224F #£(H23.3.10)
OhEm /M 0.034~0.069 — =
HMNHAREER 0.015~0.029 — —
[LEFET /NET 0.020~0.31 — _
e IR 0.026~0.034 0.009~0.046 0.010~0.042
BER KPS L 0.025~0.039 — —
E A = 0.014~0.034 0.011~0.041 0.009~0.048
2 o flgTEE =EER A TR 0.031~0.049 — —
(AFFHE)| Bg/m’ KEEET X% 0.011~0.032 0.009~0.039 0.010~0.045
KHEERT KR 0.014~0.058 — 0.007~0.076
WEERT ERLL 0.014~0.019 0.007~0.036 0.008~0.040
RITET KT L 0.042~0.061 — =
EEN 85 0.051~0.088 — -
EEET KRR 0.017~0.030 — =
P MP-1 0.014~0.021 0.008~0.035 0.006~0.030
MP-7 0.015~0.022 0.010~0.028 0.005~0.026
LhEm /NI 0.048~0.084 — —
HiH MEBEEF 0.033~0.047 — _
[REFHET NEF 0.036~0.047 — —
BIERT  FRE 0.056~0.067 0.036~1.0 0.022~0.072
BER KPS L 0.041~0.054 — —

" _ EET Eh 0.035~0.056 0.035~2.0 0.021~0.074
& S mATHe , | BER [TTIR# TR 0.051~0.070 = =
(ARFHIE) | Ba/m KEEHT K% 0.038~0.067 0.039~0.22 0.023~0079

KHEEHT KR 0.089~0.17 — 0.019~0.12
IEEHT AR 0.035~0.042 0.025~0.072 0.018~0.068
JRITE] A4S L 0.062~0.085 — =
EEH 25 0.073~0.12 = =
mEER KRR 0.030~0.044 — =
P MP-1 0.030~0.039 0.021~0.061 0.020~0.058
MP-7 0.031~0.040 0.023~0.051 0.019~0.049
LbhEd/I ND — —
LbE JIET ND ND —
BT #MEEEE ND — —
Bfh SHR ND ND~1.1 —
L RE ND ND~1.3 —
[LEFET /NET ND — —
BIERT  FERE ND ND~580 ND
BER KPS L ND — —
EET Eh 0.16~0.62 0.13~1100 ND
AR _ENA ND ND~1.6 —
REBHECA mas JNAF FIA ND — —
- i%ﬂ ;ﬁ ND~0.087 0.099~38 ND
3 REET KR 0.12~20 — ND
Cs134 | mBa/m MERT EBLL 0.14~138 0.072~65 ND
JRITE] A4S L ND~0.058 — —
BEEMN &S ND ND~1.3 —
BEEHN B5 ND — —
mfEETh RiR ND — —
mEET &S ND ND~0.45 —
EEET AKF ND ND~1.3 —
REERT FRFHR ND~0.62 ND~1.1 —
JIRET IWAKE ND ND~1.3 —
= MP-3 11~16 6.5~88 ND
BE% MP—-8 41~11 1.7~37 ND
P MP-1 0.012~0.070 ND~0.36 ND
MP-7 0.010~0.027 ND~0.75 ND
LbhEd/MI ND — —
LbEM JIET ND ND~0.25 —
™ #MEEEE ND — —
Bfh EHR ND ND~1.4 —
LB TFdbiE ND ND~1.8 —
[LEFE] /NEF ND — —
BIERT  FER ND~0.15 0.078~520 ND
BEE APZ L ND — —
EREET Ek 0.42~1.8 0.20~990 ND
AR __ENA ND~0.24 ND~2.3 —
ca=R=] JIIAF FIIA ND — —
mER iﬁ%ﬂT iﬁ 0.19~0.20 0.14~39 ND
3 HEHRT KR 0.36~5.5 — ND
Cs-137 | mBa/m e 053~5.2 0.10~7.6 ND
| GESTHT K& L ND~0.10 — —
BEEH &S ND~0.23 ND~15 —
| BEN 55 ND~0.062 — =
mEfEETH RR ND — —
mEEh &5 ND~0.96 ND~1.2 —
mHET AAKF ND~0.65 ND~1.8 —
REERT FRFHR 0.23~2.1 ND~2.1 —
JIHRET ILAKE ND~0.24 ND~1.4 —
= MP-3 30~45 10~200 ND
BE% MP—-8 10~27 2.6~67 ND
P — MP-1 0.043~0.20 0.027~0.55 ND
MP-7 0.030~0.043 ND~1.1 ND
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SHEOE EHROE EHAN0EMDE
HHE R R s R ER26F4~6H ER22(H23.3.11 L&) ER134EE
~ 254F B 54 4 3] ~224F [ (H23.3.10)
b= ALK ND ND~ 180 =
LbhE JIET ND ND~110 —
HATT #ER ND ND~540 —
LB T4k ND ND~240 —
BIERT FER ND ND~390 —
SRR EkH 49~100 ND ~ 940000 ND
A ENA ND ND~620 —
KHERT KE 22~230 180~5000000 ND
Cs-134 IEERT ERLL 49~350 56~8000 —
JRITHT RIT ND~39 ND~910 —
JRITHT S ND~90 ND ~940 —
EEH #aE ND~61 ND ~2900 —
miEEm el ND~16 ND~37 —
mieEm 55 ND~ 36 ND~150 —
EtEET [REAT ND ND~220 —
Q&EH ﬁ*i;’ﬁ' ND~ 60 ND~680 —
——— JIMRET ILKE ND~ 35 ND~2100 —
BT MBa/km2| BER \ram Ao ND~6.7 ND~ 240 =
LbhEM JIET ND ND ~200 —
HAth #ER ND~35 ND ~650 —
LEET Tk ND~15 ND~340 —
BERT FEH ND~23 ND~770 —
SR Ek 140~250 63~ 1000000 ND~0.13
IR _ENA ND~13 ND~880 —
KHEERT KE 62~590 380~5600000 ND~0.15
Cs-137 WEEE] ERLL 130~900 61~12000 —
JRITHT SRIT 43~130 ND~ 1900 —
JRITHT ES 81~260 120~1100 —
EEH R 72~180 120~4200 —
miEET B 24~45 ND~600 —
EieEm 55 32~97 ND~ 1400 —
mEET [REAT ND~32 ND~350 —
EREERT FRFHR ND~170 ND~990 —
JIMRET IUAKE ND~110 51~4000 —
Wb=m ND ND —
Bt ND ND —
[=Er T ND ND ND!
HRIERT ND ND ND!
= [T — — ND!
NI ND ND —
Cs-134 Ba/t | BBE K HEHT — — ND!
TUEEHT — — ND!
JRITHT ND ND ND!
BER ND ND —
mEET ND ND —
BREERT ND ND~0.17 —
JI{ZET ND ND —
LbEh ND ND —
Bt ND ND —
J=EF T ND ND~0.050 ND
HRIERT ND ND ND!
= R ET — — ND!
LS ND ND —
K Cs-137 Ba/t | EBE AEEHT — - ND
TUEEHT — — ND!
JRITHT ND ND ND!
BER ND ND —
mEET ND ND —
EREEFT 0.097 ND~0.29 —
JI{ZET ND ND —
LbEh 0.64 0.60~0.72 —
Bt 0.42 ND~0.79 —
L EF T 0.54 0.57~0.75 ND~1.0
HRIERT 0.45 0.46~0.96 ND~0.98
= [T — — ND~0.99
LS 0.46 ND~0.57 —
H-3 By/e | {2BR A BEHAT — — ND~1.2
TUEEHT — — ND~1.1
JRITHT ND 0.43~0.87 ND~1.0
BEEM 0.68 ND~0.69 —
mEET 0.49 ND~0.51 ND~0.82
EREEFT 0.50 0.67~0.87 —
J IR ET 0.75 ND~0.90 —
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E—CRmBUKkO ND ND~0.80 ND
F—F)IBoKkO ND~1.2 ND~2.4 ND
F—GHEUKkO ND ND~0.96 ND!
= =NI=] F—F)AFE ND ND ND
mER KiR-BEJIH ND ND~0.094 ND
ﬂlﬁ-ﬁﬁﬁﬁgl:ﬂh ND ND —
F_FmEmmkO ND ND~.0.20 ND
Com134 | Ba/t %= (iLEokO ND ND~0.12 ND
ok O 3.7 2.0~45 ND
wmEE— UK O {458 0.24 ND~76 ND
ok Ok 0.36 ND~8.2 ND
kO ND ND~0.36 ND
wBEE= Bk a ND ND~0.35 ND
demokO ND ND~0.23 ND
F—FmEmmkO 0.074~0.094 ND~1.8 ND ~0.002
F—F)IBoKkO ND~3.3 0.14~5.0 ND~0.003
F—GH)EUKO ND ND~2.0 ND~0.002
EEE F—F)HE ND ND~0.12 ND ~0.002
- KiR-BEJIH ND ND~0.18 ND~0.002
WEE-miIE)IH ND~0.056 ND~0.19 —
_ F_(F)mEBoKkO ND ND~0.20 ND~0.003
Cs=137 Ba/2 Z—(G)dikO ND ND~0.13 ND~0.002
ok O 11 46~72 ND~0.003
wmEE— FIfROK O {58 0.63 ND~110 ND~0.003
ok Ok 1.0 ND~13 ND ~0.002
kO 0.067 0.11~0.70 ND~0.003
w/EE=- EBoKka 0.062 0.15~1.1 ND~0.003
demokO 0.079 0.079~0.47 ND~0.002
F—FmEmmikO ND ND~2.4 ND~0.55
F—F)IBoKkO ND ND~2.5 ND~1.2
F—G)EUKO ND ND~6.2 ND~0.58
EaE F—F)hE ND ND~0.58 ND~0.67
- KiR-BE)IH ND ND~0.53 ND~0.41
WEE - R E)IH ND ND~0.58 —
N Ba/2 F_(F)mEmBoKkO ND ND~0.56 ND~0.76
F_F)tmkO ND ND~0.56 ND~1.1
ok O 71 9.6~180 ND~0.67
wmEE— FIfROK O {58 ND ND~6.8 ND~0.55
JERok O 4458 32 ND~9.8 ND~0.62
K _ kOl ND ND ND~0.57
w/EE= EBoka ND ND ND~0.77
demokO ND ND ND~0.47
ok O ND ND -
wmEE— UK O 4458 ND ND -
Jbok O f4E ND ND -
Sr89 B/l kO ND ND —
w/EE=- ok ND ND —
demokO ND ND —
F—FmEmmkad 0.006~0.016 0.011~0.69 —
F—F)mkO 0.002~0.003 0.005~0.78 —
meE F—F)EKO 0.003~0.005 0.005~2.9 ND ~0.002
(;E B F—FHE 0.002~0.004 0.002~0.26 —
) KiR-BE)IH 0.001~0.003 0.001~0.027 —
WEE-RIE)IH 0.001~0.031 0.001~0.094 —
F_(FmEmmkd 0.001 0.034 —
S0 | Ba/t B=GolRokD 0003 0033 =
ok O 21 21 0.001~0.003
wmEE— UK O {458 0.031 0.005 0.001~0.003
Jb ok O 4458 0.68 1.2 -
BwkO 0.004 0.014 0.001~0.002
wREE= ke 0.005 0.012 —
deroka 0.003 0.011 0.001~0.003
F—FmEmmkOd ND ND -
F—F)mkO ND ND -
EEE %—(@Iﬁ}f ND ND -
= B E—F)HE ND ND -
Pu2ss | mBa/L | (B SR Seine ND ND -
WEE-RIB)IH ND ND -
F_(FmEmkd ND ND -
F_F)mokO ND ND -
F—FmEmmkd ND~0.006 ND~0.014 -
F—F)mkO ND~0.008 ND~0.14 -
=aE %—(?é%)ﬁ;’yq:}i a ND~0.008 ND~0.010 -
. = B E—F)HE ND ~0.006 ND~0.009 ND~0.009
Pu~239+240) mBa/L (*.%%I TR BT ND~0.006 ND -
WEE - R E)IH ND~0.005 ND~0.010 -
F_FmEmmkkO 0.008 0.011 -
£ -Gk 0.020 ND -
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A% i R s R ER26F4~6H ER22(H23.3.11 L&) ER134EE
~ 254F B 54 4 3] ~224F [ (H23.3.10)
E—CRmBUKkO 76 120~210 ND
F—F)IBoKkO 150 120~290 ND
Cs-134 %’—(%)Hg};ﬂ 320 250~450 ND!
=@ e F—F)HE 100 25~72 ND
Bo/kewz | BER %iﬂ-ﬁéllliqﬂq: 56 45~60 ND
. o FEE -G 19 26~61 —
s % —_(REmkD 63 68~220 ND
(Ba/ke®s) %’; F) Lok 36 47~74 ND!
FRBEOMEIE simma_ KoK O 4R 110 110~1200 ND
(Bakgm) |Bu/kelL’| BEF SRk O 140 120~710 ND
M im e — Eka 60 55~200 ND
Ba/ketr | BEH— JERokD 41 41~140 ND
F—FmEmmikO 210 230~500 ND!
Cs-137 F—F)IBokO 400 280~580 ND
%_(%)Hﬁ}f 870 610~1000 ND!
—— F—F)HE 280 64~170 ND
Bo/kef| BBR KR - BE)IGE 150 97~140 ND
WEE-mIE)IH 53 61~130 —
XH2GAE 1 FE-(Fmmka 170 170~470 ND~0.3
T kY F_(F)ABokO 93 100~150 ND
(Ba/keds) o [ UK O 4458 300 210~1800 ND~0.65
BEGOME Ba/ke#te | IR ROk DR 390 280~1100 ND
R P prpem RROKO 170 120~360 ND~0.61
demokO 120 92~250 ND~0.62
EaE— iéy};ﬂﬁﬁ ND ND —
KO 4R ND ND —
Sr89 Ba/kefz EEE— ok ND ND —
. — kA ND ND —
RIELTRY E—FmRKkO ik ND~0.49 -
F—(F)LBoka PeXikas ND~0.24 —
EEE F—G)EKO PeXikas 0.41~1.2 ND
(;E%'i F—(F)HE S ND~0.19 ND
Fﬁ) ;;iiﬂﬁgjllllq:q: 2Jt EEJ ND ND
Z-giiA)I; PaX ke ND —
Sr90 | Ba/ke# %= GomBokD S 021 =
F_(F)ALBokO PeXias ND —
ek Ok 9.1 19 —
T Emka ND ND —
BRE= JEmoKa ND ND ND~0.15
F—FmEmmka S ND
F—(F)IBoka PeXias ND -
EEE %—((%;éﬁ;’szquin f;t EEJ ND -
_ = F—F)HE PaX ke ND -
Pu-238 | Ba/kedz (?.;ﬁ%i ES WA preras O —
WEE-RIE)IH S ND~0.020 -
F_(FmEmmkd PeXias ND -
F_(F)ALBoka PeXias ND -
F—FmEmmkOd PeXias 0.080~0.21 -
F—(F)BoKka PeXias 0.090~0.32 -
P %:(?é%l;’ngf;n ?;: E:z 0.27~0.28 0.15~0.43
_ = E—F)HAFE Yk 0.39~0.52 0.28~0.48
Pu~239++240| Ba/ke#t (*'Eﬁ%i TR BT Sy 0.34~0.36 =
WEE-miIE)IH S 0.33~0.41 -
F_FmEmmkO S 0.25 -
F_(F)IBokD S 0.21 —
WhEm R ND T4~19 =
Hith &8 ND ND~26 —
LEET ik ND ND~95 ND
BIERT KE 140 50~300 ND
ERET AL 55 66~ 240 ND!
JINAF _ENA ND ND~12 —
KHEERT KR 540 740~3900 ND
=EER XRHEERT KR 27 220~440 ND!
IEERT AR 500 940~2100 ND
RE Cs-134 | Ba/kg4k RITHT JbEstHis 21 63~160 -
EEH R 63 150 —
EEET BR ND 25~52 —
BREEAT BRT 270 210~570 —
BREERT RIE 110 350~520 —
JIMRET ILKE 76 68~140 —
mEE— MP— 31tk 1400 890~ 27000 ND
BEEEBME 1700 2800~ 220000 ND
EEE— BRI 57 60~ 12000 ND
JEERTR 120 85~17160 ND
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WhEh AZE 28 30~41
Hih &8 16 20~55 —
[LEFET EdbE 17 29~190 ND~1.2
BIERT KE 390 110~660 ND~0.92
ERET AL 150 170~520 ND~0.04
JINARF _ENA 10 ND~29 —
KHEERT KR 1,400 1900~8400 ND~0.07
=EER XEERT KR 65 520~990 ND~0.08
IEERT ERLL 1,400 2000~ 4500 ND~0.14
REE Cs—137 | Ba/kg4k CRITHT JbEiHis 71 120~390 ND~0.07
EEH #ER 190 370 —
EEET BR 26 52~120 ND~0.03
BREEAT BRT 750 550~ 1100 —
BREERT RIE 290 730~ 1000 —
JIMRET ILKE 230 160~310 —
P MP— 31tk 3400 1600~ 39000 ND~0.04
BEEEEME 4700 6200~ 310000 ND~0.14
Eam— R RR 160 130~ 17000 ND~0.05
= LR 330 200~ 22840 ND~0.06
OhEh AZE ) 700 =
Hih &8 370 220~1300 —
LB FdkiE 140 180~2100 ND
BIERT KE 1,300 1200~3800 ND
EMET /JINVE 10 4000~ 12000 ND
AR _ENA 73 270 —
KHEERT KR 49,000 65000~ 230000 ND
Bo/kgiR | EER WEERT ERIL 6,700 2700~ 43000 ND
JRITHET JhiHis 360 740~1600 ND
EEH R 1,600 5,600 —
mEET BR 2,500 130~4400 —
Cs-134 HEET 55 2,200 3800~9200 —
BREEH BRT 6,900 11,000 —
BREERT RIE 5,900 6,000 —
JIMRET ILKE 810 180~2100 —
A 110000 130000~ 330000 ND
EEs— KREERTFEE 4900 35000~ 78000 ND
KAEERTAE)I 25000 34000~ 69000 ND!
WEERTAR L 1500 1400~2300 ND!
Ba/kefZ bR 2,100 490~3200 ND
Eam— BERLRS 970 1200~2100 ND
T =EERT{AEZH 2,400 620~2600 ND
=R AR 2,800 1900~9000 ND
WhEh AZE 130 230 —
Hih &8 1,100 1,200 —
LEET Tk 410 170~3200 ND
BIERT KE 3,600 2000~ 6800 ND
=EE /INVE 32 9400~ 17000 ND
NAF ENA 200 670 —
_ ARERT KR 150,000 100000~ 310000 ND
REt Bao/kgit | 2SR WEERT ERIL 20,000 3100~59000 ND
JRITHT JbtHiE 1,100 1200~1900 ND
EEH R 4,600 14,000 -
EEET BR 7,700 190~5900 —
Cs-137 mEEET E5 6,100 9000~ 14000 —
BREEAT BRT 20,000 26,000 —
BREESRT RIE 17,000 14,000 —
JIMRET ILKE 2,400 5,300 —
b 290000 220000~ 680000 7.1~28
EaE— KEERT FE E 13000 70000~ 170000 2.4~15
KHEERTAE]I 68000 59000~ 100000 11~14
Bq/kes WEERTERLL 4300 2600~ 3700 9.4~15
A 5,800 1200~7000 11~12
Eas— BERLRS 2,700 1900~3600 6.3~12
| EEATAESH 6,700 900~4800 84~12
SR ET AR 7,900 2900~ 15000 7.8~15
j(ﬁ?ﬂltmm ND ND —
S RERTFEF E ND ND —
aRE REERTAE)I] ND ND —
WEERTARLL ND ND —
Sr89 Ba/kez A oY ikan ND -
EEs— WERLES PoY ikaal ND —
EMET{AEZE oY ik ND —
=EE AL FaXiilas ND —
j(ﬁ?ﬂzﬂhm 210 160 0.77~2.1
= RERTFEF E 8.0 13 —
aRE AR 4 o =
WEERTARLL 74 4.1 —
Sr90 Ba/kefz A oY ikan 3.9 1.4~28
EEE— [CES R oY ikan 3.1 —
= [EAT{AEZH oY ik 25 —
E AT AR SR 24 -
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HHE R R e A& S RE22 (H23.3.11 L&) FERL134EEE
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x yﬁ;mw — 0.11 —
= HERT REF E — ND —
wRE AR = ND =
_ FEERTERLL — ND —
Pu-238 Bq/kgkz mgﬁﬁﬂgg — ND —
o — ERDRA — ND —
B R EmmLEsE = ND =
=BT AR — ND —
x yﬁ;mw — 0.19 —
= HERT REF E — 0.31 —
m&% ABERTREII — 0.22 —
. FEERTERLL — 0.39 —
Pu-239+240| Bq/ke% ,@%ﬂlgg — X -
= g — ERDRA — 0.28 —
mmE= Emﬂmﬁ}m%m = 0.20 =
= e AT T AR — 0.24 —
Rt x A — 1.2 —
= HERT REF E — 0.68 —
BRE AR = 045 =
_ FEERTERLL — 0.98 —
Am-241 Bq/kgkz mgﬁﬁﬂgg — 047 —
o g — ELR 0 — 0.36 —
BeR - EmmLEsE = 053 =
= AT T AR — 0.43 —
x yﬁ;mw — 0.05 —
= HERT REF E — ND —
Ba% KAEATE ) = ND =
FEERTERLL — ND —
Cm244 Ba/ke&z m%ﬁﬂﬂm — ND —
= g — EELRE — ND —
BeR = EmmLEsE = ND =
= @A R AR — ND —




